RULES OF GENETICS

If traits follow the Principle of Dominance and Recessiveness, there is always one dominant gene or allele and one recessive gene or allele.

Using a capital letter shows the dominant gene for a trait.  Use the first letter of the dominant trait.



i.e.  Spots in dogs is dominant over 




having no spots so…….Use “S”



i.e. Tall is dominant over short in pea




plants so use ((( ___________

Using the lower case letter shows the recessive gene for a trait.  i.e.  “s”  and “ ____ “

There are three possible gene combinations for traits. These are the possible genotypes:

1. Homozygous Dominant  SS

2. Heterozygous


Ss

3. Homozygous Recessive   ss

The expression of the genes someone inherits is called the phenotype.  It is how you look or act etc.



i.e.  a dog with the genotype SS 




has what phenotype?



i.e. a plant that is Tt has what 

phenotype?



i.e. a plant with a tt genotype has what




phenotype?

